il

CREALITY

CR-Laser Falcon User Manual
CR-Laser Falcon [RiE{F B 5

AYMEB=ZHMREBROERAS

SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.


https://manuals.plus/m/1aac6eb4dc026de2cfecd7567b5b635c4afd572e98c327c50c1b1671435552fa




3DITED = Ak %5 & &
3D Printing Evangelists



JEZXE] Rendering picture

A

R SR = R G R T R, BETEER Z BT RENEARIAE, H R R IR BRI TIRE.

B = A FIPARNZIEE N ERERNIRS A ERE R P TIC BT 4R, BRIRIEAPERFTIR AR ERIE  BRFE S Fl 1
TBRR A T IEREB BRI B IR @, SEE AT DAMIX T A HIRERIR & 1RAEADIR -

FEALERR AR MARIDATE TF R EIER BRI RS,

BARRILEME IR =HE R (www.cxswdd.com) FHMEXPIEMH KR SR IRERFIRERFTEER.

Dear Consumers:

Thank you for choosing our products.For the best experience,please read the instructions before operating
the machine. Our teams always be ready to render you the best services. Please contact us via the phone
number or e-mail address provided at the end when you encounter any problem .

For a better experience in using our product, you can also learn how to use the engraving machine in the
following ways:



View the accompanied instructions and videos in the TF card.

Visit our official website www.creality.com to find relevant software/hardware information,contact
details,operation and maintenance instructions.

Ef4FHR
BREW https://www.cxsw3d.com, RIEET“RSIHE - BRTH TH&EMEM, REFE TF RHBANE, LBRIBHE
o
Firmware Upgrade

Please login the official website https://www.creality.com/download, select the relevant engraving machine
and model and download the latest firmware.Save it to TF card and it can be automatically updated when
powered on.

fERZA
BOCBEZINIEREZI SN EIA R I E A S B E RO RBHITR, MR RES SR, BNEERRRNERL TMEMRSMEEX
SEMRAR LR MM, PTRER U ZEUEA N, B FTREIRER L85 R B B R,

BB THRIERD

CEDEAERBEES RSB G EREERIE AR, S A R EEBER SRR D RNIFER,
ENEREIRPEREMRERERE, BERAT RHFNRIRE.

TEHATERTRRIER T, BTHEEia kR A.,

M TEMRIBETE 0°C-35°C, P RET MREERT, BRMMRIME MERA &, P EEMRS MERAE .
WA B MER AT, XA, HUTFF IR,

A= REERRIRA, 157 M F e Eth T R AR R FHEX X,

AR ERIGATRY, 7D kA ETESE ARG BB EIR A .

- BEZIBIE TAEFE L RERATEFENTENENESZHTRNR, AEEMEM I,

9. BOCREZII IR, ES MR B 17, & S BRI iM% .

10. BOCREZI 2P A R R = DT IR SZ S S IR, BB RFAIRE THE.

11. FHR7E 10 3 IUTHLE, BOERBRARENER TMERAT™ &, MRERASHE.

N o g p DN

[oc]



12 EEPRAKRER, EHSGPIRERAES, FRINSETNEATE:

13. (ERAERLETIREFAEM (EAH) BN ER M EKEREM, B TRIUGER, TRRENSES, PREHINT RIREER
EEEIBERR L A RE FARFBNEXERTERIBMT AR,

For the purpose of engraving or cutting with a laser engraving machine, allow the workpiece to be
exposed to the high-density laser beam emitted by the laser engraving machine. The workpiece may be
subject to gasification without combustion as it is pretty hot on the surface. On the other hand, most
workpieces are essentially combustible, which may be ignited, leading to an open flames and consequently to
the machine breakdown and environmental contamination.

1. It is prohibited to store the machine in areas close to combustible and explosive substances, volatile
solvents or source of heat. Instead, store it in a well-ventilated, cool and dust-free place;

2. Make sure that only the specific attached power cord rather than other similar power cords are used
during installation;

3. Clean the tripod and laser module with a dry cloth regularly when the power is off.

4. Ensure to run the laser at 0°C-35°C. Operation at sub-zero temperature is prohibited; It is prohibited to
run the machine under wet environment or in thunderstorm weather;

5. Switch off the machine if it is offline for an extended period of time, and unplug the power cord;

6. It is prohibited to come in contact with electronic areas with hands or other tools when the machine is
connected to power supply;

7. Touching any moving parts and laser module while the machine is running is prohibited;

8. Before engraving, place a flat object that cannot be penetrated by the laser, such as an aluminum alloy
or stainless steel plate on the workbench, and then place processing material.

9. Wear goggles to prevent vision damage arising from exposure to the laser spot during laser engraving
operation;

10. It is advisable to run the machine under well ventilated condition as laser engraving may generate small
amount of fume or gas;

11. Children under 10 years old are not allowed to run the machine without adult presence, which otherwise
may lead to personal injury;

12. Put in place fire extinguishers in case of use, which shall be regularly checked. It is prohibited to keep
the machine unattended while it is running;

13. Users should comply with the laws and regulations of the corresponding countries and regions where
the equipment is located (used), abide by professional ethics, pay attention to safety obligations, and strictly
prohibit the use of our products or equipment for any illegal purposes. Creality will not be responsible for any
violators' legal liability under any circustance.



=S E] Parameters

eme
Muo::jer; CR-Laser Falcon

PR

M;I:;hine size 568*632*198mm

e

Net weight 3.3kg

BIERSR )

Operation system Windows /MacOS

EIPNGERES

I'::put 100~220V 47~63Hz

B E

(guutput DC 24.0V 3.0A

TERETE ! )

Range of operating temperature 0C-35C

LHINE

Safety certification IEC60825 ,FDA.CE.ROHS FCC . UKCA. UL
BEZIR T

Engraving size 400mm*415mm

Laselr source HEHEER /Semiconductor laser unit

R

Laser wave length 455+£5nm

HINE

Laser power 5W/10W

R2ER e

Safety class Class | (FDA 93 24T/ /FDA classification standard)
BRI R )

Laser engraving software LaserGRBL. LightBurn

XER -

Format files jpeg.jpg.png.bmp.svg.dxf

MR ) AR AR TR ISBIR B R TSR ) R E SR AR
Type of supporting materials Cardboard, wood, bamboo, rubber, leather, fabric, acrylic,

plastic, etc




%% Equipment Intro




1 XEB M HER R A
1.X-axis assembly & Control box assembly

2.Front X-axis profile*1

3.Rear X-axis profile*1

4.Left Y-axis assembly*1

5.Right Y-axis assembly*1

7 MAEE*
7.Laser module*1

8. BRI ER R 1
8.Power adaptor*1

9.BRL

8.Power cord*1

10.7K1R*2

10.Linden plywood*2

11.M5*20A75 A F EKIRLL*18
11.M5%20 screws*18

12 TEUREVEE & W7NATIREREIRL 6
12.T-shaped nuts & hexagon screw



4 NIN
# J K

13.M1.5/M2/M2.5/M3 7 AiRF 17 B R IRIBAR*2
13.M1.5/M2/M2.5/M3 Allen key ’ 17.Activated carbon smoke absorption cotton*2

14 FORFE E 18 BERAILES

-
14.0pen wrench*1 b 18.Black cable tie*3 "'l-\_\_‘_‘_‘-

s
v
15.TFF&iEF58*1 2 19T LA+
15.TF card & card reader *1 - 19.Dustless cloth*1
creaumy

Fv.
16.B5IPEREE*1 20.RREAER*1

16.Goggles*1 ) 20.Instruction manual*1



1. RERE Y WA LY AN (FSHHL) ST X AN, RERAOFFESE:
Assemble the left Y-axis assembly:Pass the left Y-axis assembly (with the belt up) through the X-axis
assembly and put on the belt in the direction shown in the figure:

EEH, B
= 4gs

AR TEIRETHIR

Jz[bay

Tighten the belt, and insert two T-shaped nuts into the
left Y-axis assembly.Then lock the belt with hexagon screw.

T BUREYRS)
¥ T-shaped nuts

2. RER Y WAH: HERL.

Assemble the right Y-axis assembly and it is the same as above.

T EARRES
T-shaped nuts «,




3. REHI X HEM 55 X #EA , H(EA 8 Tl M5*20 A AFE

Assemble rear X-axis profile and front X-axis profile: Lock with eight M5*20 screws.

M5*20 \\x

< M5*20

> M5*%20

4. RE=ZTHRMRIESSAM: HEM 8 T M5*20 A7 ATEKE

Assemble three tripods and control box assembly: Lock with eight screws.

St 15520

M5*20 Wi, X M5*20

M5*20



5. REHOUIRA: BHARARKEEERT, ERFEREEE TN SHZIMHREERER, REERANNFITRLEH
PR, HIFSHENE S FEERBR T REH LHOCREL,

Assemble the laser module: Assemble the laser module into the fixing plate and the fixed focus bar should

contact with the surface of the processed material when it is naturally vertical downward.Finally lock it with
two hand screws on the right and turn the fixed focus bar clockwise until it is attracted by the magnet.Finally
plug in the laser module cord.

AR AL

laser module cord

BRI N{ER Software installation and usage guide

REELEMINER) TF RHRES T HOMZIFTER Lightburn B THEEEMRE BT, BRI IE TF RIENIERES, EEREM
#J USB im0, $TFF TF RIREVEXfEREIE.

The TF card included with the package contains Lightburn software and usage guide.Please insert the TF
card into card reader, connect it to the computer to get the software.



FriaRkZl Start Engraving

1. ERRISEIGFA G-code M) TF FIEANRZF, AEHERENEIRERS—MEN TR2AXNRFEED, 5 —UEAE
FREMEREO . &EITFEFHRLMINLERIFFX.

Insert the TF card into the machine before powering on, insert one side of the power adapter into the
power socket that can be remotely switched on, and the other side into the power connector on the left side of
the control box .Lastly, turn on the red switch on the left side of the control box.

BIREREE, R 98" —F, BTSSR, MENSZETERG MiatTmENasd NGRS, REE .. 08 A, ERT
LRITFIRITRR.

After the power is turned on, the machine emits a “beep” with indicator light always on, and the machine
initializes; After the initialization is completed, it enters standby mode and emits “beep...", and the indicator
light turns into breathing light.

2 B TREhFF X, BMEERHEATUER, Bk R R B, HESMMTERN&EA XY BEEREH, BRIER.
LRI AN ESEUE.
Press the microswitch, it enters preview mode from standby mode, the laser head will emit weak light, and

repeat movement around the largest X, Y edge of the processed picture with indicator light on. At this time,
adjust the material to a suitable position.



TR, BIRR T BN K, MBS HNBZIR, ARk R 38, B e, BRI ER.
MRFELSERZ), BIR TREIFF X, LA SR AT ZAIFIRT R, BIRIE TIMENF KT DAL .
UMRFEICHERZ), BIRMEIFX 3 B, MBS R E —5, ENREM, EMSRIREAL H ... B WS, #FAFIER,
FERKTERERATHR

In preview mode, press microswitch again, it enters engraving mode. At this time, the laser head will emit
strong light, the machine will start engraving with indicator light on.

Pause engraving: press the microswitch (or click “Pause” button in the software). At this time, the indicator
light turns into breathing light. Press the microswitch again to continue engraving.

Cancel engraving: Please press and hold the microswitch for 3 seconds (or click “Cancel” button in the
software), it will “beep” once, starts to reset, and “beep” twice after reset is completed. Enter standby mode, the
indicator light turns into breathing light.

3. BZIERE, e K8 =5, MENRE, EMSMNEEE S . B WA, EAGIRR, BRI ZMIFRIBR .

After engraving is completed, it will “beep” three times and reset. After reset completed, it “beep” twice,
enters standby mode, and the indicator light turns into breathing light.



ETITIRZSIRER Indicator Status

1 HERAT R MR THRIRES, S LB RS,

2 IPIRATRNR MR THVAER, PHR T REIF X EN TR S IR

3ETTIANE: MBS TAREANR BRI, FITESEEE H RIS, SEARTREERREEBENFIIE.
4 ETRITER: NSLTREEXNMZAIE, IEKATHARTS, BRIMNERERZ.

1.Light off: The machine is in a power-off state, or the power is abnormal.

2.Breathing light: The machine is in standby mode, you can press the microswitch to enter preview mode
or engraving mode.

3.Light flashes: the machine is in upgrade mode or abnormal mode, and the buzzer beeps rapidly, and it
will automatically enter standby mode after the upgrade is completed or the abnormality is cleared.

4.Light always on: the machine is in preview mode or engraving mode. The laser head is working, please
pay attention to safety

FE 2 Exception Handling

1. FEME AR AR B ZIAE R, aD RN R EMEN R BB, MEERXHEE, BB LLIEE, I8RATINN, BEATIE1583 & 2 (2m
BHTIRE,
IBINE: ERIRREERRAE, BIREE R TSR S EAOMENFF R BREEFR TSRt Z) .

In preview mode and engraving mode, if the machine turn on it side or moves, it will turn off the laser.
Motor stops moving, indicator light flashing, and buzzer emits alarm.

Solution: Please move the machine to its original position and press microswitch on the machine control
box to continue previewing or engraving after clearing abnormality.



m )

ERZI R

Place engraving material

TR AREE
Adjust the focal length
of the laser module

BRI HFNTFR

Place engraving material

BTFREBANE
Prepare engraving file and save
it to TF card

EBERIRHITIF X

Power on

HESRTHIA M

Machine resets

EERNKTEN
Walt for the machine to
complete resetting

b QR I ESEIN LS
Press microswitch to
enter previewing mode

(I

BRI T M R FFIaREZ)
Press microswitch again to
stare engraving

RS THESAX K#%/Long Press

Press microswitch,
Yes or No

l 21%/Short Press

EELTEERN
In pausing mode,
Yes or No

J' 2/VES Z/NO
YREEREZ HIEHZ fZIEREZY
Continue engraving Pause engraving Stop engraving
&R
End

FAF$21E7RFZE] User Operation Guide



4

FRBEREAKAEEER, NESHTERLE, BSWASIF, HENEFE.

iR

EFEMN: BXREBIE: HISHEASIR, HEREMRIN:
[hges:uila

m] ez O BE O

W
S

H2HiE%mEg: ITRES:
TLRIE: BETE O %T 0
AL HER: 3 R 2]

HASIERIDR:

BERT BAERRE RENEFHAR, HEHRCRBHANEEARATIR,

Before returning the product and filling in a warranty, please contact after—sale person for going through
after—sale formality.And attach this warranty card along with the returned machine.

Repair O Change O Return O

Name: Telephone: Malfuction And Damage Depiction Or Return
Address:

Serial Number: Order Number:

Channel: Platform O Offline O Repair Records:

Date of purchase Da Mon. Year.

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| And Change Reasons\Suggestions:
|

|

|

|

|

|

|

|

|

|

|

| Note: Client need filling in basic infor.and return reasons.Repair records shall retain for technicians.
|






* (ERENETIRE PR (A BN ER EOREEM, 8 TFRIGERS, TRRE XS, FEBRANTRSIREEREETIRERR
L AEREFRRABRAAX AR RERIHT AR,
* ESRAETRE, NS ETREERES, AT E, RERBERTRIIH IR =LRRRHBRASME.

% Users should abide by the laws and regulations of the country and region where the equipment is located (place of use), abide by
professional ethics, and pay attention to safety obligations. It is strictly forbidden to use our products or equipment for any illegal
purpose.Our company is not responsible for the relevant legal responsibilities that the violator should bear.

Since each model is different, the actual product may be different from the picture. Please refer to the actual product. The final
¥ interpretation right belongs to Shenzhen Chuangxiang 3D Technology Co., Ltd.

SDITEN = U HEH
3D Printing Evangelists

LIFEIEE TR, I TR P 2R R ER

With the spirit of evangelists, we want to share the convenience of technology with everyone.

ARYITH R =SB KBRBE

RYIT X RAEFEMF L KERKEE
AEIMIE: www.cxsw3d.com

RS AEL: 400 6133 882

0755-8523 4565

SHENZHEN CREALITY 3D TECHNOLOGY CO.,LTD.
18F, JinXiuHongDu Building, Meilong Blvd., Longhua Dist., Shenzhen,
China 518131

Official Website: www.creality.com

Tel: +86 755-8523 4565

E-mail: info@creality.com cs@creality.com




